CJML Metamodel

1.*
ServiceProcess
groups

JourneyGroup

grouplD: String
groupDescription: String
numberoflourneys: Integer

0

T
I

<<invariant>>

{endUserExperienceRating in [1,5]}

[

Touchpoint

objects

Object

touchpointlD: String

compliance: ComplianceValues
uncertainty: UncertaintyValues

endUserExperience: String

endUserExperienceRating: Integer

timeStarted: Datetime
timeCompleted: Datetime

objectID: String
objectName: String
isVirtual: Boolean
objectDescription: String

systems

comment: String

|

BackendSystem

systemlD: String
systemName: String
systemDescription: String

| Action

CommunicationPoint

0

* *
< L. CustomerlJourney O——Z)I CustomerJourneyElement
journeys elements
journeylID: String
journeyTitle: String belongsTo 0.1
journeyShortSummary: String
JourneyLongSummary: String . JourneyPhase
phases phaseName: String
phaseDescription: String
PlannedJourney
belongsTo 1 0.1
journeyCompliance | 0..1
Actuallourney JourneyOperator
journeyStatus: Status operatorlD: String
contentCompliance: Boolean —
sequenceCompliance: Boolean concurrentPaths * N
endUserExperience: String
endUserExperienceRating: Integer Concurrency

concurrencyPaths: Integer

<<invariant>>

{endUserExperienceRating in [1,5]}

Decision

<<enumeration>>
UncertaintyValues

<<enumeration>>
ComplianceValues

uncertainOccurrence planned

uncertainNoOfOccurrence adhoc

uncertainChannel missing

uncertainlnitiator failing

<<enumeration>> <<enumeration>> <<enumeration>>
Channels EUTypes Status

telephone customer inProgress

sms user completed

faceToFace citizen aborted

internet patient

email employee

| —
—

decisionPaths

decisionPaths: Integer
condition: String

endUsers

0.1

Actor

haslInitiator
1

timeOriginated: Datetime
timeReceived: Datetime
timeConsumed: Datetime

Initiator

1

decisionMaker

actorlD: String
actorName: String
actorDescription: String
isVirtual: Boolean

initiatorLabel: String

Receiver

(K

1

haslnitiator

1

refersTo

1

AN

1.* EndUser

providers

endUserType: EUTypes

* ServiceProvider

externals

companyName: String
department: String

External

refersTo

receiverlLabel: String

hasReceiver

Channel

1

channelName: Channels

hasChannel

Message

keyMessage: String
messageContent: String

1

hasMessage
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= B JoumeyGroup B Customerjourney H object
H serviceProcessl . e - : e H Touchpoint =
[1..%] groups = grouplD : EString [1.%] joumeys = journeyiD : EString I o H CustomerlourneyElement | - [0.~] objects | = objectiD : EString
= groupDescription : EString = journeyTitle : EString [2.7] elemen = touchpointiD : EString = o objectfame : EString
= numberofioumeys ! Eint = journeyShortSummary : EString |‘ J 7 = ;?::‘;?‘!éaclnce: Compliancevalues = o isvirtual : EBoolean = false
&= journeylongSummary : EStrin 3an ation s
& ylong oy g o uncertainty: UncertaintyValues = = objectDescription : EString
x uncertainOccurrence
= endUserExperience : EString
1]belongsTo = endUserExperienceRating : Eint i [ BackendSystem
o= timeStarted : EDate [0.7] systems e
5 o systemiD ! EString
2 F % = timeCompleted : EDate
[0..] phases g JoumeyPhase = (ommentp: EString o systemName : EString
= phaseName : EString 2 = systemDescription : EString
o phaseDescription : EString T . S
H Plannediourney
[0..1] beiongsTo
] Action | CommunicationPoin <<invariant>>
At G tionPoint i i
= Originated : EDate {enUserExperienceRating in [ 1, 5]}
inated :
——————— o timeReceived : EDate
H Joumeyoperator 1 = timeConsumed : EDate
[0..1] journeyCompliance o operatorlD : EString
B Actustioumey [0..*] concurrentPaths E Concurrency [1..1] hasinitiator [1..1] hasinitiator
= journeyStatus : Status = inProgress o1 concurrencyPaths : Eint E Initiator
= contentCompliance : EBoolean = false
= sequenceCompliance : EBoolean = false
o endUserExperience : EString E Decision
o endUserExperienceRating : Eint = decisionPaths : Elnt 5
g [1..1] hasReceiver
10.] decisionPaths o condition : EString
E receiver
[0..1] decisionMaker
<<invanant>> &= receiverlabel : EString
{enUserExperienceRating in [1, 5]}
H Actor
[1..1] hasChannel
actorlD : EString [1..1] refersTo
actorMName : EString
actorDescription : EString E Channel
isWirtual : EBoolean = false |[1.1] refersTo hannelNames
B EndUser Fiy Channels = telephone
[1..*] endUsers iy End‘UserTypE: EUTypes =
EaTAIRCE [1..1] hasMessage
H Message
o] B SeniceProvider 1 keyMessage : EString
- = tompanyMame : EString o messageContent : EString
= department : EStrin
# Status 2 EUTypes 2 ComplianceValues 2 Uncertaintyvalues % Channels L5 J
= inProgress = customer = planned = uncertainCecurrence - telephone
- completed = user = adhoc = uncertainNoOfQccurrence - sms
- aborted — citizen - missing — uncertainChannel — faceToFace [0..*] externals B Exteral
= patient = failing - uncertaininitiator

= internet
= employee = email L—J




